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Note :— This paper isof Thirty five (35) marks divided into
two (02) Sections‘A’ and ‘B’. Attempt the questions
contained in these Sections according to the detailed
instructions given there in. Candidates should limit
their answersto the questions on the given answer
sheet. No additional (B) answer sheet will be
issued.
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Section—-A
(T@Us—=h)
Long Answer Type Questions
(&rd ST W) 2x9%5=19

Note :— Section ‘A’ contains Five (05) Long-answer type

1.

guestions of Nine and Half (9%2) marks each.
Learners are required to answer any two (02)
guestions only.

Tug ‘%' § Ui (05) < 3w uvA f ™ €,y
T & forg @re i (9Y2) ok furifia €1 ferenfemi =
T8 G Had & (02) Il & W e T

What is Gametogenesis ? Explain the chemica and
metabolic events during gamete formation
Spermatogenesis with example.

THHS S 2 ek A0 & SRE B drell TEmEfs
3R SUTT=Rt TSt i e Hife |

Explain the fertilization of gametes, acrosome reaction,
formation of fertilization eggs membrane and activation,
prevention of polyspermy.

I oh IO, TR gfdfswan, fo=m e1ve o1 faeeht
&1 fmfo iR afau, dieiordt =t Jwam &t =
HifSTT |
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3.

Describe the Induction. Explain the embryonic induction
and concept of organizer.

1 (Induction) T FO HIFTT | YT 01 IR A=STH
1 STIHRON i SATEAT HifT |

Explain the blastulation and gastrulation in frog, fate
maps and foetal membrane.

Tigeh W1 WA SR Yo fercelt § seregerer iR fregerer
i ATEAT hifIT |

What is Sericulture ? Explain the different kinds of silk
producing insects. What is Host plant of silk insects ?

WM 3ceA = ¥ ? {9 YRR & W SAes Sidl @
Ui T | T[T i 1 qoh dre Hiar § 2

Section-B
(Tves-—)
Short Answer Type Questions
(T AT T9) 4x4=16

Note :— Section ‘B’ contains Eight (08) Short-answer type

guestions of Four (04) marks each. Learners are
required to answer any four (04) questions only.
Tvg ‘@' § ams (08) @ SWiE WA I W,
e ¥ & folt =) (04) i fauffea ¥ 1 forenfémat
I T8 ¥ Thael |’ (04) T9 & W 3 |
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Explain the lay out of fish farm.

TSl WH % A hi AT HITST |

Write the significance of cleavage.

fage™ =1 He fafEm|

Explain the life cycle of Ancylostoma.

TR & S =% Sl 9T |

Explain the life cycle of Wuchereria.

TR & SfiaT =k ki el hifs |

Describe thelife cycle of Lac and diseases of lac insect.
NG & Sitad =sh T8 oNd i< @ AT ] Ui hifsg |
Explain the Reeling and fiber technology of silkworm.
WHEe & AT IR FER qeoheieh ] THEET
Describe the life cycle of pulse beetle.

TAG YT % S| =oh 1 AU it |

What isIPM ?

SAEHTH A T ?
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